

NOTES ON CONVERGENCE OF THE FOURIER SERIES

PAWEŁ JAN PISKORZ

ABSTRACT. Our notes contain a way to prove the point convergence of any Fourier series of a piecewise periodic continuous smooth function. The key technique we use is the computation of the limit of the partial sum of the Fourier series. To achieve that result we apply integration with substitution of variables and the Dirichlet integral value.

1. INTRODUCTION

Let us consider partial sum $s_N(x)$ of the Fourier series

$$(1.1) \quad s_N(x) = \frac{a_0}{2} + \sum_{k=1}^N (a_k \cos kx + b_k \sin kx)$$

where

$$(1.2) \quad a_k = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos kx \, dx$$

for $k = 0, 1, 2, \dots, N$

$$(1.3) \quad b_k = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \sin kx \, dx$$

for $k = 1, 2, \dots, N$.

Substituting the expressions for the Fourier coefficients we obtain

$$\begin{aligned} (1.4) \quad s_N(x) &= \frac{1}{2\pi} \int_{-\pi}^{\pi} f(t) \, dt + \frac{1}{\pi} \sum_{k=1}^N \left[\int_{-\pi}^{\pi} f(t) \cos kt \, dt \cdot \cos kx + \right. \\ &\quad \left. + \int_{-\pi}^{\pi} f(t) \sin kt \, dt \cdot \sin kx \right] \\ &= \frac{1}{\pi} \int_{-\pi}^{\pi} f(t) \left[\frac{1}{2} + \sum_{k=1}^N (\cos kt \cos kx + \sin kt \sin kx) \right] dt = \\ &= \frac{1}{\pi} \int_{-\pi}^{\pi} f(t) \left[\frac{1}{2} + \sum_{k=1}^N (\cos k(t-x)) \right] dt \end{aligned}$$

2020 *Mathematics Subject Classification.* Primary 42A20.

Key words and phrases. Fourier series, Point convergence, Partial sum of the Fourier series, Dirichlet integral.

2. SUM OF COSINES FORMULA DERIVATION

We use a formula for the sum of the geometric series $\sum_{k=1}^N e^{ik\varphi}$ as in [Hir] and for convenience presented with modifications in Section 5.

$$(2.1) \quad \sum_{k=1}^N e^{ik\varphi} = \sum_{k=1}^N (\cos k\varphi + i \sin k\varphi) \\ = \cos((N+1)\varphi/2) \frac{\sin N\varphi/2}{\sin \varphi/2} + i \sin((N+1)\varphi/2) \frac{\sin N\varphi/2}{\sin \varphi/2}$$

where $i^2 = -1$. Computing from equations

$$(2.2) \quad \sin(\alpha \pm \beta) = \sin \alpha \cos \beta \pm \cos \alpha \sin \beta$$

and

$$(2.3) \quad \cos(\alpha \pm \beta) = \cos \alpha \cos \beta \mp \sin \alpha \sin \beta$$

we obtain

$$(2.4) \quad \cos \alpha \sin \beta = \frac{1}{2}(\sin(\alpha + \beta) - \sin(\alpha - \beta))$$

$$(2.5) \quad \sin \alpha \sin \beta = -\frac{1}{2}(\cos(\alpha + \beta) - \cos(\alpha - \beta))$$

and we can substitute

$$(2.6) \quad \alpha = (N+1)\varphi/2 \quad \beta = N\varphi/2$$

$$(2.7) \quad \alpha + \beta = N\varphi + \varphi/2 \quad \alpha - \beta = \varphi/2$$

After computations we arrive at

$$(2.8) \quad \sum_{k=1}^N \sin k\varphi = -\frac{1}{2}(\cos(N\varphi + \varphi/2) - \cos \varphi/2) \frac{1}{\sin \varphi/2}$$

$$(2.9) \quad \sum_{k=1}^N \cos k\varphi = \frac{1}{2}(\sin(N\varphi + \varphi/2) - \sin \varphi/2) \frac{1}{\sin \varphi/2}$$

From equation (2.9) we receive

$$(2.10) \quad \frac{1}{2} + \sum_{k=1}^N \cos k\varphi = \frac{\sin(N\varphi + \varphi/2)}{2 \sin \varphi/2}$$

3. APPLYING THE SUM OF COSINES FORMULA

We apply the formula from equation (2.10) for the sum of cosines having $\varphi = t - x$ in equation (1.4)

$$(3.1) \quad s_N(x) = \frac{1}{\pi} \int_{-\pi}^{\pi} f(t) \frac{\sin(N(t-x) + (t-x)/2)}{2 \sin(t-x)/2} dt$$

We substitute $t - x = u$. Then we have the result obtained in [Tol]

$$(3.2) \quad \begin{aligned} s_N(x) &= \frac{1}{\pi} \int_{-\pi-x}^{\pi-x} f(x+u) \frac{\sin(Nu + u/2)}{2 \sin u/2} du = \\ &= \frac{1}{\pi} \int_{-\pi}^{\pi} f(x+u) \frac{\sin(Nu + u/2)}{2 \sin u/2} du \end{aligned}$$

Now we substitute in equation (3.2) $Nu = \alpha$. Then we have $u = \alpha/N$, $u/2 = \alpha/2N$, $du = d\alpha/N$. For the limits of integration if $u = -\pi$ then $\alpha = -N\pi$ and if $u = \pi$ then $\alpha = N\pi$. In this way we obtain

$$(3.3) \quad \begin{aligned} s_N(x) &= \frac{1}{\pi} \int_{-N\pi}^{N\pi} f(x + \alpha/N) \frac{\sin(\alpha + \alpha/2N)}{2N \sin \alpha/2N} d\alpha = \\ &= \frac{1}{\pi} \int_{-N\pi}^{N\pi} f(x + \alpha/N) \frac{\sin(\alpha + \alpha/2N)}{\alpha(\sin \alpha/2N)/(\alpha/2N)} d\alpha \end{aligned}$$

4. TAKING THE LIMIT AND THE FINAL RESULT

In particular for $N \rightarrow \infty$

$$(4.1) \quad \begin{aligned} \lim_{N \rightarrow \infty} s_N(x) &= \\ &= \lim_{N \rightarrow \infty} \frac{1}{\pi} \int_{-N\pi}^{N\pi} f(x + \alpha/N) \frac{\sin(\alpha + \alpha/2N)}{\alpha(\sin \alpha/2N)/(\alpha/2N)} d\alpha \end{aligned}$$

We notice that in the numerator above

$$(4.2) \quad \lim_{N \rightarrow \infty} \sin(\alpha + \alpha/2N) = \sin \alpha$$

and in the denominator we have the limit

$$(4.3) \quad \lim_{N \rightarrow \infty} \alpha(\sin \alpha/2N)/(\alpha/2N) = \alpha$$

what is in agreement with the known limit

$$(4.4) \quad \lim_{\vartheta \rightarrow 0} \frac{\sin \vartheta}{\vartheta} = 1$$

where $\vartheta = \alpha/2N$.

In this way we receive

$$\begin{aligned}
 (4.5) \quad s(x) &= \lim_{N \rightarrow \infty} s_N(x) = \\
 &= \frac{1}{\pi} \int_{-\infty}^{\infty} f(x) \frac{\sin \alpha}{\alpha} d\alpha = \frac{1}{\pi} f(x) \int_{-\infty}^{\infty} \frac{\sin \alpha}{\alpha} d\alpha = \\
 &= \frac{1}{\pi} f(x) \pi = f(x)
 \end{aligned}$$

We have shown that if $f(x)$ is periodic and piecewise smooth function, then its Fourier series converges pointwise to $f(x)$ at all points of continuity of f .

To compute the Dirichlet integral

$$\int_{-\infty}^{\infty} \frac{\sin \alpha}{\alpha} d\alpha$$

we have used the result from Sections 5 and 6.

5. GEOMETRIC SERIES EVALUATION

Here we evaluate the sum of the geometric series as in [Hir]

$$(5.1) \quad S_N = \sum_{k=1}^N e^{ik\varphi}$$

We write

$$(5.2) \quad S_N = e^{i\varphi} + e^{i2\varphi} + e^{i3\varphi} + \dots + e^{iN\varphi}$$

We multiply the above equation by $e^{i\varphi}$ on both sides obtaining

$$(5.3) \quad e^{i\varphi} S_N = e^{i2\varphi} + e^{i3\varphi} + \dots + e^{iN\varphi} + e^{i(N+1)\varphi}$$

Now we subtract equation (5.3) from equation (5.2) and we receive

$$(5.4) \quad S_N - e^{i\varphi} S_N = e^{i\varphi} - e^{i(N+1)\varphi}$$

what can be rewritten as

$$(5.5) \quad S_N(1 - e^{i\varphi}) = e^{i\varphi} - e^{i(N+1)\varphi}$$

From equation (5.5) we compute the partial sum S_N as

$$\begin{aligned}
 (5.6) \quad S_N &= \frac{e^{i\varphi} - e^{i(N+1)\varphi}}{1 - e^{i\varphi}} = \frac{e^{i(N+1)\varphi} - e^{i\varphi}}{e^{i\varphi} - 1} = e^{i\varphi} \frac{e^{iN\varphi} - 1}{e^{i\varphi} - 1} = \\
 &= e^{i\varphi} \frac{e^{iN\varphi} - 1}{e^{i\varphi/2}(e^{i\varphi/2} - e^{-i\varphi/2})} = e^{i\varphi/2} \frac{e^{iN\varphi} - 1}{e^{i\varphi/2} - e^{-i\varphi/2}} = \\
 &= e^{i\varphi/2} e^{iN\varphi/2} \frac{e^{iN\varphi/2} - e^{-iN\varphi/2}}{e^{i\varphi/2} - e^{-i\varphi/2}} = e^{i(N\varphi+\varphi)/2} \frac{e^{iN\varphi/2} - e^{-iN\varphi/2}}{e^{i\varphi/2} - e^{-i\varphi/2}} = \\
 &= e^{i(N\varphi+\varphi)/2} \frac{\sin(N\varphi/2)}{\sin(\varphi/2)}
 \end{aligned}$$

Then we can write

$$(5.7) \quad S_N = \sum_{k=1}^N e^{ik\varphi} = e^{i(N\varphi+\varphi)/2} \frac{\sin(N\varphi/2)}{\sin(\varphi/2)}$$

and therefrom we obtain

$$(5.8) \quad \begin{aligned} S_N &= \sum_{k=1}^N e^{ik\varphi} = \sum_{k=1}^N (\cos k\varphi + i \sin k\varphi) \\ &= e^{i(N\varphi+\varphi)/2} \frac{\sin(N\varphi/2)}{\sin(\varphi/2)} = \\ &= \cos((N+1)\varphi/2) \frac{\sin N\varphi/2}{\sin \varphi/2} + i \sin((N+1)\varphi/2) \frac{\sin N\varphi/2}{\sin \varphi/2} \end{aligned}$$

what gives

$$(5.9) \quad \sum_{k=1}^N \cos k\varphi = \cos((N+1)\varphi/2) \frac{\sin N\varphi/2}{\sin \varphi/2}$$

$$(5.10) \quad \sum_{k=1}^N \sin k\varphi = \sin((N+1)\varphi/2) \frac{\sin N\varphi/2}{\sin \varphi/2}$$

6. DIRICHLET INTEGRAL EVALUATION

We have written previously in Section 2 that

$$(6.1) \quad \frac{\sin(N\varphi + \varphi/2)}{2 \sin \varphi/2} = \frac{1}{2} + \sum_{k=1}^N \cos k\varphi$$

We integrate both sides of the above equation from $-\pi$ to π

$$(6.2) \quad \int_{-\pi}^{\pi} \frac{\sin(N\varphi + \varphi/2)}{2 \sin \varphi/2} d\varphi = \frac{1}{2} \int_{-\pi}^{\pi} d\varphi + \sum_{k=1}^N \int_{-\pi}^{\pi} \cos k\varphi d\varphi$$

receiving

$$(6.3) \quad \int_{-\pi}^{\pi} \frac{\sin(N\varphi + \varphi/2)}{2 \sin \varphi/2} d\varphi = \pi$$

because

$$(6.4) \quad \int_{-\pi}^{\pi} \cos k\varphi d\varphi = 0$$

for any value of k in the sum $\sum_{k=1}^N$ above.

Now we substitute as before $N\varphi = \alpha$. Then we have $\varphi = \alpha/N$, $\varphi/2 = \alpha/2N$, $d\varphi = d\alpha/N$. If $\varphi = -\pi$ then

$\alpha = -N\pi$ and if $\varphi = \pi$ then $\alpha = N\pi$. After substitutions we may write that

$$(6.5) \quad \int_{-N\pi}^{N\pi} \frac{\sin(\alpha + \alpha/2N)}{2N \sin \alpha/2N} d\alpha = \pi$$

and after taking the limit N approaching infinity we arrive at

$$(6.6) \quad \int_{-\infty}^{\infty} \frac{\sin \alpha}{\alpha} d\alpha = \pi$$

in a similar way like at the evaluation of the limit of partial sum of the Fourier series.

REFERENCES

- [Fol] Folland Gerald B (2009) *Fourier Analysis and Its Applications* American Mathematical Society
- [Hir] Hirst Keith E (1995) *Modular Mathematics Numbers, Sequences and Series* Oxford: Butterworth-Heinemann
- [Katz] Katznelson Yitzhak (2004) *An Introduction to Harmonic Analysis* Cambridge: Cambridge University Press
- [Riem] Riemann B (1867) *Ueber die Darstellbarkeit einer Function durch eine trigonometrische Reihe* Göttingen: Aus dem dreizehnten Bande der Abhandlungen der Königlichen Gesellschaft der Wissenschaften zu Göttingen
- [Ste] Stein Elias M and Shakarchi Rami (2011) *Fourier Analysis* Princeton and Oxford: Princeton University Press
- [Tol] Tolstov Georgi P Translated from the Russian by Silverman Richard A (1976) *Fourier Series* New York, NY: Dover Publications, Inc.
- [Zyg] Zygmund A (2002) *Trigonometric Series* (Vol. 1 and 2) Cambridge: Cambridge University Press